f #F 2:

JooKTH b B E 2 0B 513k B A8 B PR

BVPRSY: 98 S H

B HB: 202145 4 A 14 H

15 F 4475 SO e 2 2 T S P oK SR
T LA o -
o P KT SR 3 T H 15 BEST
DA
5 a4 |, BEME o, WEMD 3. UMD 4. D
th i 4. A2 i i | T | T
BH¥E | i) | ) (Fi78) Ji) | i | i | o=
Sl
0. 48 0. 48 0. 48 100%
B SR
WEHEEH | \
N BRI
i
BB BIMERES . 2B SOk B T
WHME | WAE | AME | B | S5 SRR 4
N s B BT AERIEA b g e -uk e ik
TUH W 2 4 | s | 2 jiji”%;ﬁ;?ﬁ AIAFRU R
= 9y MS °
1. SIS AR 1 4
A 4%+ P 3 oy THH G 14,
3. BHIEHIT IR 1 5. W R4
5 W S L R A 2 4. %
SLIHLK,
WA | 2 shepy
1 T 1. B THATIO R 3 4
13 71 BITkE | 4 o, Bl (BIH LSRR 14, BH
R4
1T S0 E R4 ARG 1 4y, Bh—T5dT 0. 5
. b AL
Hbzedi | 4 0. BONEREITE 140, FHTEH 0.5 4
3. BRSO AR 2 4y ST 1 4

_1_



TH F R Hbw 1:

—g | g | fEhark [EaE|Egs] B Ek o
jebe | b | (Coaie | bR | o | 2 | 4 AR
Z NSt
2 (BAIMENHIES
) fERBU A b
SN gehE| 4 A
PV B
HE | HIE
PPT2 | PPT2
‘L-I:l% ‘}'LEJBE
it E N ) |
VAR oo o P 1o BRI = 5 H R 5o R B 14 9
Hafa 200 4| 200 £ 0. E IR SRR AR BOT I
7 15 4% i Jjg 2l (15 4+ ZHREARD, 114 F R R
2k P E 5.
IR N
S s B I A e
= VAN= N2 B =
T, el SR PR
7J(m%w§ﬁ§%t§§iﬁ§g
P EE LT iEr S el
g— o sl e [P BRI 2
e b ZHITHER]” "
HE 40 4% " =ik 2 JiI AR
I Vir
ST AL
859y SERA AL iy ;
7'3 Z “~ 20 100% [100% 12 1. A= 8 hr 52 R B R IE SR
RS [REFEAL TR 2. SRIRFFAME T = RARFEA B I T
¥ 12 43 (12 5y + Z RN D, P& IR %
5.
%25 5 Bl B
S e 2 U2 R e
2l e m 22 22 1 $RAE = 0 bR 76 T 2K A2 IE B )
AR [ | B T BTN
b6 0\ = AR A = SR SO B E (6
AR Uy =+ SRR, TR R
Ads 7 1. $RGE= SR 5 AR (O E
=1 0 = SRR A = SRR AN OB E (7
& U SRR AR, TR R B
‘ 1o 3R = G bR S B RS (Ve E k)
L5 10 D = BT A R = SRR N O
jﬁAﬁlo% (10 53+ = ZAahr M H0, DR
ALl 8
EFn O L 2 e o
g;g ‘ ?Elﬁﬂ{cﬁﬁ%‘ SR, 1o HR = R HEhR ST B 2 8 (P k)
HERABIRE, JONI AL ) 2. SORKR A = AR RO A W
2510 4 KkoSoi 3| e i " (10 4%+ ZHASFARD, P4 TN fE 4
W D, e e




CEIE S

ERESN
KB
9. e
R
< B
[P
1o SR = SR bR A 8 10 G VR
HEA D\ SO ARKR A S AR A RO BT
2510 4% 10 (10 45+ ZHRIGFFARD, T4 TR 4
e
e 12t T
T ﬁ?;ﬁ;g BIFZE;D 5 1. HRAE =GR bR T RS A (1 E PR
%2[]@*5’2 RS g g D bR %= S TR R 5

or S+ RO, UE TR R

25(% 5
[EINE
=

i
S
T
St
ol

M | s Lo Tl B 10| |1 B sRRRERLEER
W | gy s o5l st 1L D = g 4= SR RO T
J% o + |k (10 43+ ZHAERAED, &R
10 45 1097 .

85 85 85




